


Fmd the missing term in the

17,17,34,20,20,31,23.2
a@%

17,17,34,20,20,31,23,?,?
(a) 26,28
(b) 25,28

()9)45,23 @

(d) 28,23



If the letters of the given series

are written in reverse order,
which letter will be the fifth to

the left of the eleventh letter
from the right end?

JZHIXYANQFTW@EMPBLQ
RDS

g q TE HEGA B IR Bl Sec
%9 H for@r @Y, @ U BR &
TREd R & q13 IR A Uiaai 3R
HIF AT BRIT?

JZHIXYANOFTWCKGUVEMPBLQ
RDS



gfs & TS @ b IGMERT B S
9 H for@r g, & ¢ BR &
TYRED IeR B 918 MR A Ui=di I6R
DI AT BRIT?

JZHIXYANOFTWCKGUVEMPBLQ
RDS —] —t

What will come in place of
question mark (?) in the
following series

ZXI,NTF,KVU,?

fr=ferfaa sfaer 7 ues fors () &
T U T IIMTIT?

ZXI,NTF,KVU,?



Select the set in which the
numbers are related in the same
way as are the numbers of the

fdlbwingses_
FLN 36>
99 WS BT TI9 BN orgd g
SUl UPR GalRd & o AfeiRad

e P gE=g
(H, N, 36)

o
(a) (B, G, 64)
@ (b) (ﬁ 25)
\AE) (E\G, 25)

(d) (E, H, 16)



Find the missing (?) term

Jw (?) ug =d HifY
12
(a) 364
(b) 125
(c) 248

\/ﬁl{ﬁg



alternatives.

/\ In the following question, find
< > @ the odd one out from the given

(2) (3) (4) Tr=fiead we & oy ¢ fawedi 4
¥ Jus fdpew sa I |

(a) 2

UY\€9\V@& Avohuhgyy ®3

(c) 4

er



Sim card, memory card, pan card

R @re, H9N1 Bre, U9 a1

(a)
&
(d)



If EAGLE = 25 and ABOUT = 58

then EXAMS =?
A
Jfe EAGLE = 25 3R ABOUT = 58

EXAMS = ? %
(a) 52 sq—|/
-5

/::/Z Sum—(* hetoy

(d) 38

03-5= o1 @




In a certain code language,

‘HAWK’ is coded as ‘8256’

! ‘INKS’Zis coded as ‘7’

‘GUNK’ is coded as ‘1935’

‘HSGA'’ is coded as ‘4326’
.’ —— \6\,

What can be the code for ‘GKA’
in that code language?

U Rad g W H,

‘HAWK’ &I ‘8256’ IS fear 1T 8
‘INKS’ & ‘5497’ & ®©U H dIfed
fpar T 8



‘GUNK’ &I ‘1935’ & ®U H difed
far T 8

‘HSGA’ & ‘4326’ & ©Y H difed
fpar T B

99 @ 9N H ‘GKA’ @ fou @
B ol 87

(a) 456

(b) 356

(c) 859

(d) 357



If40 @2 #3=83and 60 @2 # 5
=125, then 39 # 13 @ 5 = ?

I 40 @ 2 #3=83 3R 60 @ 2 #
5=1257T9 39#13@5=?

X
(a) 122 r,}o{k\g

ﬂft WXRES (Tt
c) 138 60}“{‘t { <\

(

@ 2



Statement

I. some stones are cubes.
II. No cube is glass.

III. All bats are cubes.

Conclusion: -

/ some stones being bats is a
possibility.

~TI. No bat is glass

)([II. All cubes are bats
>{(I. No stone is glass



B
.59 URR U9 B |

LS U9 g T8l 2|
1. 99 goey ©9 2 |
farspe:—

I. $B URRI & qocll 811 I FHE
g

(a) Conclusion I, II and IV follows I, HIg Jooil Did T8l & |

(b) Conclusion II, and III follows

\Jc) Conclusion I, and II follows

1. 947 O gooll 2§ |
IV. BI5 URR $ig 8 8 |

(d) Conclusion I follows



Select the option that is related
to the fifth number in the same
way as the second number is
related to the first number and
fourth number is related to the
third number.

SQ';\Z 5:13::9:69::13:?
0 99 fdded &1 999 R O iEd e
5‘__.\'2’ H Sl UHR Hetd § O TERT A«
o 8 gl FeaX | Haftd 8 SR TR He
\3__.\’2_ R SfaR & et B

9:13:49:09::183:7

(a) 174
(b) 147 @
L&) 157

(d) 175




What will come in place of
question mark (?) in the

w Tfﬁﬂﬁ‘vrﬁ’ﬂﬁouwmg Szlﬁ: 7y fors (?) @

X332 35 x5 X3—|F I W T AEI?
3,7, 16, 37, 94, ?

)(3_;23 (a) 169 (b) 153

- uz@9 (d) 361
o Prirt wy - '(g 2;
. 1t



ool

;..:

@

t

D
A4

Vowd Porene

1R L FPoo L

il

(a) PRRVTLRJM

In a certain code language
‘WHIRLPOOL’ is  written as

‘LZROTOLLR’ and ‘ECONOMICS’
is written as ‘VFLTLTRCL’. How

will ﬁCIENTfI’ be written in
that lan e ) J-)

fA@q @ w1 H
‘WHIRLPOOL’ &I ‘LZROTOLLR’
AR ‘ECONOMICS’ &l

)ﬂa) ESRVMQEQX «FLTLTRCL’ for@r wmar & <9

)@ ) GSRVMJRVG

\ME_]S}_ISLBIJ

qT § C‘SCIENTIST’ o9 for@)

STg?



TxIT=IXKY

Odd one out

)i ARl s

(a) PDHH (b) OCIE
(c) DFXA TBYG
‘@ZU L)dgms?



Select the combination of letters
that when sequentially placed in
the blanks of the given series will
complete the series.

R & S AT BT II9 BN fore
& g gaEer & R ®IEl # HAe

w0 | T hYl ORT B TG |
‘l nopimoO¥t PO_Of

af Iml p oS
@ (b) Imoomlinpp
(c) iImqpnmqrq
(d) Imlpmnlmop




®

(a) CEJHTRBDPNUVMOSU

M CEHJRTBDNPTVMOSU
(c) CEIUSTDSNQVTNOST

(d) CEJITSBDQNTVONTS

In a certain code language
‘BUSINESS’ is  written  as
‘ACTVRFHJMODFRIRT  and
‘SELECTED’ is written as
‘RTDFKMDFBDSUDFCE’ How
w1ll

NT’ be written in
that an

Udh ﬁﬁaﬁ ®C HINT § ‘BUSINESS’
@I ‘ACTVRTHJMODFRTRT’ 3R
‘SELECTED’ &I
‘RTDFKMDFBDSUDFCE’ foran

ST 2| S9 99T § ‘DISCOUNT’
o9 fordt SoEfi?



Select the option that is related
to the Fifth term in the same
way as the second term is related
to the first term and the fourth

term is related to the third
term?

99 fAweq &1 799 & O UiEd Ug
H S UBR Heed 3 SN ENT Ug
Usel Ug ¥ Hefd B 3R Gl ug
dRR Ug ¥ Gefed 87

D70 :12::1125:15:7: 18

e C —th 1728 —
\UteT1944 r-t920—



Which two signs and number
sould be interchanged

f& g1 el 3R TRl & Uy ¥
g5 A1fay?

5-13 x 17 +26 +4 = 33
S %&) 17& 13 ,+&x X

)3 &5, + & -

)26 & 17, + & +

L14)26 &5, + & -




Select the correct mirror image
of the given figure when the
mirror is placed at °‘MN’ as

shown.
_ . W9 U DI @Y Y FFER MN’
A /A AL A WG SN D IS AP B OFED
@ M Y i B @1 T W
vy ¥ A A — -+
4, DA
/ k \ Vi A P_ v . "ﬁﬁ'_m
v A |
A/ @ 1\ A A / b‘ & /\ ,/q
'\ v A A v | |




2N Y62
2\
—|S &
ond )
IS
3% 1y
3

Select the option that is related
to the Fifth term in the same
way as the second term is related
to the first term and the fourth
term is related to the third
term?

99 fdeeq &1 999 HN Wl UEd Ug
¥ 9 YPR HERd 8 O YT US
UEd U ¥ Gefd 2

15:3135::13:2015::21:7?

(a) 9207 (b) 9300 @
(c) 8900 98799



In a certain code language
‘BACTERIA’ is written as

‘AEZIIKOE’ gd;#TE‘BIAL’ i
A CTe R, A’ written as :EIIK Q’. How w:lsi

\/ )( COMBIN D} be written in that
a ( QM ety
’ AC Z| DG Ue faf¥ad e 9T § ‘BACTERIA’
&I ‘AEZIIKOE’ 3R ‘MATERIAL’ &I

+| ‘PEIIKOEQ’ foraT Tl 8| 99 4THT
,\'\1/] ﬂ';' E\F};l\ﬂ L Vd , % ‘COMBINED’ 9% fordl Sgfi?

C oPRA (f ZUPAQOIY (¥ YUPZOKOY
P €l IK 0 € Q w ZUPAQKIW m AUPZQQIW



In a certain code language
‘KNIFE’ is written as ‘MPHIE’ and
‘SHARP’ is written as ‘UJTRA’.
How will ‘AGAIN’ be written in

that language? g_ly M_E.

U fAREd fe 99T # ‘KNIFE’ &I
‘MPHIE’ 3{X ‘SHARP’ &I ‘UJTRA’
forar Srar 21 SS9 91T ¥ ‘AGAIN’

Y fordl SeEf? ngﬂ%
@ IQAIA  (b) JPIA T g!

yﬁPAAI (d) @




Select the figure that will replace
the question mark (?) in the
following figure series.

99 IPA B FYT BN Wl
frefafeaa smpfa sj@er 4 w1 @

(?) &1 I o T |
N @) I @)
€ >
< (c) =
0 I ® N
I O I m
2. >
) " )| e
m N Q N




Select the set in which the
numbers are related in the same
way as are the numbers of the
following sets.

(NOTE: Operations should be
performed on the whole
numbers, without breaking down
the numbers into its constituent
digits. E.g. 13 - Operations on 13
such as adding/subtracting /
multiplying etc. to 13 can be
performed. Breaking down 13
into 1 and 3 and then performing
mathematical operations on 1
and 3 is not allowed)



S We @1 TE X o ey

SH yeR wWaita € SR e
AT éﬂ b AT B = F

[T Sarevwr @ ferw 13 — 13
\q OX N SSITTO ﬁ-\q- % 13 _q
7 —”@) /O HET S @Y S

VM(,%, wol €1 13 BT 1 3R 3 # dreW
angl_"@) 0, i, ug) T TR LAN @ T i IR

B B IEfa T B
30"9:2"@)7‘&\ ~27 0 € (3,6, 5) )
(d) (30, 7, 21) (7, 6, 2g (30, 48, 45)




A @ B means ‘A is the sister of B’
A # B means ‘A is the wife of B’
A + B means ‘A is the father of B’

A M B means ‘A is the mother of
Bl

A & B means ‘A is the brother of
B!

A < B means ‘A is the daughter of
B!

A > B means ‘A is the son of B’

IFEN+Q>I<H#G+F&T @ Z,
then how N related to Z ?



A@B®I 3 8 ‘A, B®H 987 &
A# B3t 8 ‘A, B3 Ul &
A+ B3 B ‘A, BP fUar &
AAB® 3 & ‘A, B®I H1GT &
A&B®HI 3R 8 ‘A, BT 415 &
A<B®I 3 & ‘A, Bl 921 &

A>BHI 3 B ‘A, BD 9T &
YT N+Q>I<H#G+F&T®@Z,
a‘rm,zﬁﬁmwﬁaﬁﬁﬁ?{"é

(a) mother (b) grand mother%&
(c) niece \M‘other in l&w




A person goes to college for
picking his wife. He starts his
starts from house and drives 15
km towards the east from there
he turns right and drives 18 km.
Then he turns right and drives
24 km, again he turns right and
drives 30 km and finally he
reached college. What is the
shortest distance between
college and his house?

Uh FRh AU Il @l o & forg
Bictel ST 8| 98 R 9§ TSl Yo
HRAT 8 3R 15 ff gd o1 3R Ferar

8, 98 9 98 T Hedl 2 3R 18




fodl =orar 8| R 98 <0 qsar @
AR 24 fH =ear 8 R 98 MW
qedT & 3iR 30 fdt geram & ofR o
H 98 el Ugd T & | dleidl SR
SHS TR & a1 A g4 947 87
(a) 10 km (b) 25 km

\/le)’r5 km (d) 20 km

S



Nine persons H, I, J, K, L, M, N,
O and P are sitting around a
rectangular table (not in same
order). Three persons are sitting
at one side of the table. Boss is

B sitting at one side of the table. M
os’is sitting opposite to J _and

between O and H. O and K are
sitting beside each other on the

shortest side of the table. I is



NG S8 81 M, J @ fARia 3R O
IR H @ &g q 43T 2| O 3R K A9
T UeY BISI NP (d g @ 7
H9SEILP® ARG R L 3R N
P §19 931 8| SH 9§ DI S 87

(a) I \\_;g;:ﬁ—’—

(c) H (d) J






